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IREs AfaTeh IFEUET Ua GiRIeor 9Rve, A= (SIREs)
(Jharkhand Council of Educational Research and Training, Ranchi
(Jharkhand)
clfadg dafdes qdieT : 2021-2022
Second Terminal Examination: 2021-2022
AlSeT geA-97
Model Question-paper

Je-2 (Set- 2 )

- 11 fava - affsas siFafa | quife - 40 | ga7 - 1 "er 30 A
(Class -11) | (Sub - Commercial Arithmetic) | (F.M - 40) | (Time -1hour 30 minutes)

g fader- (General Instruction)

gt JUTHHT 379 ereal H 39X ¢| (Examinee write answer in their own words
as far as practicable.)

Fel YAl T F&AT 19 g1 (The total number of questions is 19)

TR HEAT1 @ Ul HEAT7 b I o 3o 9l g1 $oidl & ool uier el &
3R T I H Q9T 9% 92T &1 AT 1 31 @9TRa §1 (Question 1 to Question

7 are very short answer type questions. Answer any five of these questions in

one sentence. Each question carries 1 mark.)

TR HEAT8 H TR HTAT 14 T o I T &1 344 & fohedl 5 Teadl & 3w
3 aea 50 Aeal H QAT YAF A FT AT 3 3 ARG &1(Question 8 to
Question 14 are short answer type questions. Answer any five of these questions
in at most 50 words. Each question carries 3 marks.)

gl TEAT 15 ¥ U TTAT19 dh &y 3aUT IRt g 398 T fohegl dlel IRal & 3T
s 150 el & QAT U AF U FT AF 5 3 AUIRA §1(Question 15 to
Question 19 are long answer type questions. Answer any Three of these questions

in at most 150 words. Each question carries 5 marks.)
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GROUP A

1) T9000 T 3% HTr &I & 5 TNl BT sTTST TohcdaAT G2
What will be the interest on ¥ 9000 at 3% for 5 years?
2) afg emEra 8000 3R fasha #Fea 10000 BT o oImeT 1 Giderd fehder glam?
If the cost price is ¥ 8000 and sales price is ¥10000 then what will be the
profit percentage?
3) 250 & fohdar gfdera 75 giar g2
What percent of 250 is 757
4) T geplAeR T a3 W 10% ST &l § Teh ageh 1 1250 Hr Teh a&J &l

forciall HeT et gram?
A trader allows a discount of 10% on each article how much amount a
customer has to pay for an article of ¥ 12507

5) Ifg T Hed 31200 AR @il 20% 8 ar fasha Heg a1 ghm?
What will be the selling price if cost price is Rs 1200 and loss is 20%7?

6) 5 Goled ART AT 10% Thder X gier?
How much is 10% of 5 dozen oranges?

7) 3feha Hed g T3500 g AR 20% s<er f&ar Srdr g ar dec $r TR e grei?
What will be the amount of discount if the list price is ¥3500 and rate of
discount is 20%?

Group- B

8) e o ueT dah A STAT FhaT ST 3R 5% aTf¥er &1 g7 & 100 fe=At & sarer 40 &
ST a 98 Yl ddsy|
If an amount is deposited into Bank at 5% and gives interest of 40 in 100

days. What is the amount?
9) el a&g T 32400 # J=a T 400 oTH BT & TG 3/ 10% g & &=r S0 ar
3HT fasha Hed fohdar gram?
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If an article is sold for ¥ 2400 there is a profit of ¥400 what will be its selling

price if it is sold at 10% loss?

10)Us RET T AATAT Icds 100 didel & 31 W 10 Sidel 3106 Forar § 3R
12% =AM acer 8 &ar & TS aicdor & 3ifehd Hed %25 &1 dl shal 9fd Sider
SH & H T {oI W b 3 g =1 g1?

A manufacturer of juice sends 10 bottles more for every 100 bottles ordered

and allows 12% trade discount also. If the market price of a bottle is ¥ 25
what price should be fixed by the purchaser so as not to sustain any loss?
11)Teh TedHT H ddd 1,50,000 & Fee 1,80,000 X f&ar s=m 39+ ddsT &

forcet gfdera &r serall g7
The salary of a salesman is increased from ¥1,50,000 to ¥1,80,000. What is

the percentage increase in the salary?

12)fohe TTUROT sTTST T &X @ 1S &eT 20 auf # 3 T[T g1 SMean?
At what rate of simple interest will a sum triple itself in 20 years?

13)Uh =AIY 10% SR §Cel Td 2% sl sl &l ¢ | I fordly aq 1 g
Hed T1200 8 ar 3 fAshd Hed Fdv |

A trader allows 10% trade discount and 2% cash discount if the list price of an

article is ¥ 1200 find its selling price.
14)15% dT=ir arelr 120 ofiex g8 & 10% el arelr 180 efleY g fAeman Srelr § | /v

fAsoT #F gt fohder gfaerd 87

120 litres of milk containing 15% water is mixed with 180 litres of milk

containing 10% water. What percent of water is there in the new mixture?

Group-C

15)dsid o al HeTofell & Fel 30,000 3UR AT | ggel &I sTTsl T & 10% HreArem
AT gAY HI & 8% WS § | Il 2 a¥ & a1 el T5600 T sITsT YT I-AT Al
gl FEISAT ¥ 3UR off 5 AR §dT |
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Tejas borrowed ¥ 30,000 from two creditors . Interest rate of first one is 10%
p.a. and second one is 8% p.a. After 2 years he paid total ¥ 5600 as interest.

Find the amount taken from both creditors.

16)Ush HeST &F ©ISt 1 1955 UV i ©1S &1 & & 9=l § Tsh & a8 15% ot
HATC § AR gE F 15% 1 g gl § A FoT a7 372rar g7fed A A |
A man sells 2 horses @ % 1955 per horse, from first horse he makes a profit
of 15% and from the second horse he gets a loss of 15%. Find his total profit
or loss.

17) U Toie &l el foshl W 10% Al Aerdr § dur 20,000 & 3t &1 St
2.5% dietd Ao § afe wole & e 3mF T18000 & a Sierd T ARY Fa |
An agent gets 10% Commission on total sales and also gets bonus 2.5% on
above ¥ 20,000 if total income of agent is ¥ 18000 then find the amount of
bonus.

18) Ush f@=AAT 1 fehe 50 YT &1 AT TEhr 20% FA FX fear 741 Fad FHof ¥
28% §¢ IS QAT ST aTel T & ﬁ%ﬁﬁ%mq@g@?

The price of a cinema ticket was ¥ 50 , it was reduced by 20% so the total

sales gone up by 28% what is the percentage increase in the cinema viewers?
19)14% T & ¥ fhdel HTue &1 AT 7 asi # T 39,600 & Srwarm ?

How much money will become ¥ 39,600 at the rate of 14% in 7 years?

Page 4 of 4



